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EDUCATION

( Honours Core )

Paper : EDU-HC-4026
( Educational Statistics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x7=7

e SRR ©eT 2Ry Ted 4 :

(a) “The science of statistics is essentially a
branch of applied mathematics and can
be regarded as a mathematics applied to
observation data.” Who said this?

Cofre RER (AR TSI AT
ey @ T WE T ARIfFe B (TS
g o9 ofde 3 Reaen FRR @ w7
FYAR A (FRe ?
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(2)

(b) Four divisions resulting from the
intersection of X and Y axes are called

( Fill in the blank )

X SF Y SHEIE AR FOF0 I Foro
Ted ([ Sl BIfoE e T = |

(A 3R @I FA)

(c) Frequencies are plotted above the
midpoints of the class intervals in case of
drawing a frequency polygon.

( Write True or False )
TAQEC] ITTE 9Bl FEAF CFAS OISR

TR 87O IRRROITIZ FIoF T 2 |
( 791 & =T feran )

(d) Write the formula for median of
ungrouped scores, when N is even.

NI 9 T Q[ SIS, SRS MR T4
Sferaar Syt fora |

(e} The midpoint of the distance between
25th percentile and 75th percentile is
known as

( Fill in the blank )
256y e M s 759w *oe {3 T

el R I w am
| G EEENER D
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(3)

(/) The value of perfect negative correlation
is

( Fill in the blank )

o JNIS FDTTAS T (R |
(R AF [T )

(g) Approximately what percentage of area of
normal probability curve falls within the
limits of +2 standard deviation unit from
the mean?

AR WISl I CFIS ST [T 12
standard deviation I W&o AW *FA=
*SIP FIfe o[ 2

2. Answer the following questions : 2x4=8
T PR TEd 1 :
(a) Write the names of any two types of class

interval.
CIN wEAER R @I 01 4 7 foran o

(b) Write any two uses of range.

TR R CTCA1 01 2fcst foran o

(c) Manju secured 7th rank in her class of
140 students, in an achievement test.
Find out her percentile rank.

<1 Fog TSFS TG AADS = 14057
frefe foore 749 ¥ SfieR RfRE @49
ST B AT 390
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(4)

(d) A distribution is given with a mean of 45
and standard deviation of 5. Convert the
Z score of the value 0-30 into a raw score.

@I @3 Rer 1% 45 o= smd R[pife 5.
g3 o ase sfs R 0-30 /™ Z
AT YR RS FToE T4 |

3. Answer any three of the following questions :
5x3=15
oo PP R e fofor Tea <

(a) Calculate combined mean from the
following table comprising information of
a test in English of different sections of
class VI in a school :

937 Roeme ¥ ot [RSa R IR’ 316
A5 *rT YO ©Y Oo] SIS M =g |
% SYR [ ATE T Tferea :

Section No. of Students Mean

=30 PPEIRI 133 TS
A | 20 50
B 20 45
) 15 40
D 30 45
(b) Write about the drawing procedure of a
histogram.
St O e Awo TS forn o
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(S)

(c) Write a short note on correlation and

coefficient of correlation. 3+2=5
TR W TR BN T4NCE GOl Y (BT
fora |

(d) Calculate average deviation from the
following set of scores :

g N IR *[T 1S [REifs Sferean -
25, 45, 15, 16, 84

(e) Write five merits of standard deviation.

e R <iob1 e et |
4. (a) Find the value of mean from the following
frequency distribution table : 10
Ted IRQRO (oA Sifee=a *[/1 eI T
Tfered :
Class Interval Frequency
I SE SERIEO]

55-59 2

50-54 3

45-49 4

40-44 6

35-39 9

30-34 11
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(6)

Class Interval Frequency

IR SFIE RIS
25-29 8
20-24 4
15-19 2
10-14 1

N =50
Or / Q<1

(b) Find the value of median from the table
given in Q. No. 4. (a).

o WL 4. (@)S A SR /1 IR =

Tferea |
5. (a) Calculate quartile deviation from the
following table : 10
Tod SIferdR o[ S Rpfe Sferear :
Class Interval Frequency
1 SFrE LIER S|

70-74 5

65-69 7

60-64 8

55-59 4

50-54 6

45-49 4

40-44 6

N =40
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(7))

Or / 91

(b) Draw a cumulative percentage frequency
curve or ogive from the table given in
Q. No. 5. (@) and find out P,5 and Pyq

from the graph. 6+(2+2)=10
1 R 5. (a)S frm S [ 6w @

IQRA[DES] @ 90 TFA I HF @0IAT °[@0
Py ¥ P,cd ¥4 Bfeied |

6. (a) Find out the product moment correlation
of coefficient from the following two sets
of scores : 10

wote frn AR KPR [ QTEA el RS
STTgE BNE (A7 41

Individuall| A| B| C| D | E| F | G
&
Test X | 3539140 |32|31|40| 28

TestY |69 |72|71| 60| 73|74 )| 64
Or / 991

(b) In a normal distribution, mean is 50, SD
is 5. What percentage of cases lie
between two scores 40 and 60?

93 2P Reree 518 50 s s [Rpifs 5
e, YOl AGF ST 40 WF 607 TEro
fm= o1y At fd 2

* %k %
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